Issue 02794

Question Group 02 Mathematik — Question fg020a (Array (Flexible Labels) Dual Scale)
Question fg020b (Array (Multi Flexible) (Text))

The second question should only be visible, if one of the answers in question fg020a is “b1”

So | defined Scenarios for “answer equals to “b1”” for the (first three) Lines in Question fg020a and set
the “or” condition between the Scenarios. Then | checked and the condition worked. The condition
window looked as follows:

BAUWELT at Honggerberg 1

Conditions designer:

% @ - Questions: [fg020b: Bitke geben Sie fir alle | 9‘

Only show question fg020b "Bitte geben Sie fiir..." S

———————— Scenario 1 -—------
fg020a:al: [Berkley Madonna ][] Bitte geben Sie an, welche
Software Sie bendtigen und ob disse fir Windaows 7 =quals b1 (k1)
kompatibel sind. [(gid5&)

———————— Of Scenanio 2 —-—------
fg020a:a2: [Igor Pro ][] Bitke geben Sie an, welche Software
Sie bendtigen und ob diese fir Windows 7 kormpatibel sind, =quals b1 (b1)
[qid5e)
———————— OR Scenario § -—------
fg0z0a:a3: [Maple][] Bitte geben Sie an, welche Software

Sie bendtigen und ob diese fir Windows 7 kormpatibel sind, =quals b1 (b1)
(gidse)

———————— OR Scenario 4 —-—------

=quals b1
———————— OR Scenario § --------

equals b1l
———————— OR Scenario & ——------

equals bi

Then | exported the Survey (see attached File) and after reimporting | got the following condition
window:

BAUWELT at Honggerberg -

Conditions designer:

% @ - Questions: [fgn20b: Bitte geben Sie fir alle | 9‘

Only show question fgo2ob "Bitte geben Sie fiir..." S1F

———————— Scenarlo B --------

equals b1
———————— Of Scenanio 2 -——-----

equals b1
———————— Qf Scenario 3 --------

equals b1

equals b1



